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Exam. Code : [0]/0]0]5

B.A./B.Sc. (General) 5" Semester
(1129)
PHYSICAL EDUCATION (In all Mediums)

Time Allowed : Three Hours] - [Maximum Marks : 60

Note :— All questions are compulsory. Attempt any one question
from each Unit. The first question is also compulsory.
Each question carries equal marks.
UNIT—I
1. (a) Name any theory of play.
(b) Define recreation.
(c) Give one advantage of intramural competition.
(d) What is good posture ?
(e) Define massage.

(f) Name two Arjun awardees of Cricket. ' 2x6=12
UNIT—II
2.  Explain theories of play in detail.
OR
3. What is the importance of recreation in Modern Society ?
12
UNIT—III
4.  What are the aims and objectives of Camps ?
OR
5. What is the importance of organising Athletic Meet ? 12
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UNIT—IV
6. Explain postural deformities in detail.
OR
7. Whatis Obesity ? Explain general problems associated with Obesity.
12

-

—

UNIT—V
8. What are principles of massage ?
OR
9. Explain History of Cricket Game. 12
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2x6=12
Re—II
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Pe—Iv
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2x6=12
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gfee—IV
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